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531,797 2,601 534,398
531,797 2,601 534,398
1,831,434 735 1,830,699
1,831,433 735 1,830,698
2 120 122

2 120 122

243,959 8,838 235,121
193,959 8,838 185,121
17,637 8,451 26,088

3 7,450 7,453

17,632 1,001 18,633
2,834,150 1,599 2,835,749
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755,547 0 755,547
502,584 0 502,584
41,936 0 41,936
16,222 0 16,222
25,714 0 25,714

4 120 124

4 120 124

23,682 1,479 25,161
23,485 1,479 24,964
2,834,150 1,599 2,835,749
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1 531,797 2,601 534,398
5 1,831,434 735 1,830,699
6 2 120 122
7 243,959 8,838 235,121
9 17,637 8,451 26,088

2,834,150 1,599 2,835,749
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3 755,547 0 755,547 1,001 1,001

5 41,936 0 41,936 735 144 591

6 4 120 124 120

8 23,682 1,479 25,161 7,450 5,971
2,834,150 1,599 2,835,749 735 8,715 6,381
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1
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68 68
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1 1,001 1,002 1,001 1,001
17,632 1,001 18,633
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502,584 0 502,584 1,001 1,001
502,584 0 502,584 1,001 1,001
16,222 0 16,222 35 144 109
16,222 0 16,222 35 144 109
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25,714 0 25,714 700 700
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5,500 0 5,500 7,450 7,450
17,625 1,479 19,104 1,479 |22 1,479 1,479
365
1,114
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